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Q| No [z TOGO|PLAY PLAYERS v—K[#%2| |Q| No [fzi TOGO| PLAY PLAYERS Y—K| R

1l 1|8 32| 5 [PASS| & - - | x i 1 [ 32| 7 | PASS | W& — il | 13O

2 |m 13 | 14 |RUN| st -8 | x 2 [ 44| 11| PASS | WA — —| x

3 | 17 | 2 | RUN | Lk 3|0 2 3 |B 36| 3 |PASS | WAk — A | 7 [ O

4 | 10 | 6 |[PASS| st — &E# [ 10| O 4 (B 4| 4| RUN | % 4| 0O
2| 5 (B 28 | 6 [PAss| & — — | x

6 [z 25 | 8 |PASS| i - — | % 3 5 | 30| 7 | RUN | #fx 6 | x

6 (B 4| 3 |PASS| K - XK | 4|0O

3l 7|8 33| 8 |PASS| £ - AKX |39 | O 4 7 |iZ 47| 7 | RUN [ L& 9 [ O
4 8 |z 20 | 2 |RUN| BF 5 | O
9 |m 33| 8 |PASS| it - — | x
10 |8 41 | 12 | RUN| Ki# -2 | x

mg | 10 [mwm| 4 [mmE] 008 mg | 7 [ mwm | s [mwmw] 7w
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Q| No [fii TOGO|PLAY PLAYERS Y—K|[#%%2| |Q| No [f TOGO| PLAY PLAYERS Y—F| R

4 1 (B 33| 8 |PASS| = — JUX | 10| O 3 1 | 36| 1 | RUN | BEI 4 [ O

m | 1 [mwm| 1 [moE] 1000 mg | 1 [ mow | 1 [mmw] 100.06




